Let X7, X5,... be independent random variables with distribution Ber(0)
under the model Py, and let P ={FPy:0<6 <1} ~[0,1].

As={X, =1, Xo=0,X3=1,Xs = 1, X5 = 0} = (10110)
1ik(0) o 6% (1 — 0)2 N
Orrr =2 =0.6 |

LR([0,1]) = 0.904
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. —6) ifd>
L:P x|[0,1] — [0,00) defined by L(Py,d)= { g(_dd ) ::jzg
Ago = (10110111101111110111)
minimax: d=20+211=1~0.167 |
LRMg.15: d = 20.595 + £0.933 ~ 0.651
MLD: d =8 =0.8
MPL: d=0.716 0 0.2 o.‘4/'7///06 0.8
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PRE-DATA POST-DATA

(random variable X) (X = x observed)
BAYESIAN .
(prior ™ on P) Ex|Ep[L(P,0(X))]] (compora Er|lik(P) L(P,d)]
coherence)
NON-BAYESIAN _
(prior ignorance) il Ep|L(P,0(X)) o Sup lik(P) L(P,d)

(minimax risk) (MPL)



